WWW.isi-isc.com

363

363F

A

K

i
: el oo
O O O S S O | | o o o o o 2 o o S

ol =l 2 e

gk g SadeT e Dy

and sl i Gl

[ IPAF Jlo = S5 10 dinguili iy (il 415" slao 399 (59939 90T ]

[ ITAY 05 e 30 S0 50 e (59 59 (ol o 9131 ]

St 33

Wl 2 e 5 Mlaa o lociel Mlas 4lsic

AR AR RA AR RA R R AR R <

ot U | oo 3t | Jloas stins ol slga s,
v \ Voo | waagimperoli| )
5. | w T Sisd| ¥
. 2 ¥. ki | ¥

D5l ke o el '__!,34:]'1_ ol

AR R R R R R R R R R R R R R A

o Gl b clils 3 salasul

[ AT Jlo - olo cpos ]

"JKG&%K%EGI

RORE

pign ) e gl eilinia b g ilin Jlonn el (o j9mme b g g gi 3 (i o linal) a1 40008 5T 5V 7 o (oo 3 et 0} gy g 4 ST it g el sl o

EBEEEBEEEEEEEEEEBEBE”

K

b
o



WWW.isi-isc.com

Y axio 363F 5 b il o giliBl Ay g0

Mj@}nﬁﬁ

PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheel.

1- Before you -----—-—- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute ~—----—- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a -------- -- matter.
1) contradictory  2) consistent 3) colloguial 4) trivial

6- The police wondered about the man’s -—----—--- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, | expeet Ricky to -——-——-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --——o- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
—————— dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to -———— their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to Kill unwanted plants.
Selective herbicides kill specific targets, (11) —=——e--—- the desired crop relatively unharmed.
Some of these act by interfering with (12) ====mm=mns and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) =====ee-es all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) —=eemenemn as wildlife habitat.

Some plants produce natural herbicides. (15) ====seeae- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed
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13- 1) and kill 2) killer of 3) to kall 4) which kill
14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3) or 4) includes

PART C: Reading Comprehension

| Directions: Read the Jollowing three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheel.

PASSAGE I:

When marine organisms called phytoplankton photosynthesize, they absorb carbon dioxide
dissolved in seawater. potentially causing a reduction in the concentration of atmospheric
carbon dioxide, a gas that contributes to global warming. However, phytoplankton flourish
only in surface waters where iron levels are sufficiently high. Martin therefore hypothesized
that adding iron to iron-poor regions of the ocean could help alleviate global warming. While
experiments subsequently confirmed that such a procedure increases phytoplankton growth.
field tests have shown that such growth does not significantly lower atmospheric carbon
dioxide. When phytoplankton utilize carbon dioxide for photosynthesis. the carbon becomes a
building block for organ matter. but the carbon leaks back into the atmosphere when predators
consume the phytoplankton and respire carbon dioxide.

16- What is the passage mainly about?
|} How phytoplankton flourish
2) A hypothetical solution to global warming
3) The process of photosynthesis
4) Getting rid of carbon dioxide
17- It can be inferred from the passage that Martin’s hypothesis includes which of the
following elements?
1) A correct understanding of how phytoplankton reproduce themselves
2) An incorrect understanding of how iron is likely to contribute to purification of sea
water
3) An incorrect prediction about how phytoplankton grow in laboratories
4) A correct prediction about how the addition of iron to iron-poor waters would affect
phytoplankton growth
18- Which of the following is the word *alleviate™ in line 5 closest in meaning to?
1) Affect 2) Improve 3) Diminish 4) Protect
19-  Why does the author mention predators?
1) To help explain why Martin’s hypothesis is incorrect
2) To identify one effect of adding iron to iron-poor waters
3) To indicate how some carbon dioxide is converted to solid organic matter
4) To help account for differences in the density of phytoplankton between different
regions of the ocean
20-  Which of the following is the word “respire” in the last line closest in meaning to?
1) Save 2) Cover 3) Produce 4) Demand
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PASSAGE 2:

Coccolithophores are marine calcareous nanoplankton. This means that they are very small
organisms of less than 100 pm i diameter. Like the diatoms, Coccolithophores are primary
producers. i.e. autotrophic organisms that photosynthesize and thus form the basis of food
chains and webs. Unlike the diatoms. they possess a skeleton of calcium carbonate, which is
precipitated as calcite. The calcite is deposited in species-specific patterns. which facilitates
identification. Coccolithophores are abundant and are a major constituent of the calcareous
oozes on the ocean bed. They are sensitive to salinity and are most abundant at salinities of
between 38%o and 25%o. The intensity of light is also a limiting factor. but the most significant
control on their distribution and abundance is temperature. It is this characteristic that has
proved to be particularly valuable in palaeco-oceanic research. Interest has focused on
assemblage composition to determine change in surface-water temperatures and, more recently,
attention has turned to examining variations in the composition of complex organic chemical
substances known as alkenones.

21- What is the passage mainly about?

1) Coccolithophores 2) Palaeo-oceanic research

3) Diatoms 4) Alkenones
22-  What does the pronoun “they” in the first line refer to?

1) Nanoplankton 2) Organisms 3) Diatoms 4) Coccolithophores
23- What does the word “primary” in line 2 mean?

| ) Dependent 2) Main 3) Obvious 4) Temporary

24-  Which of the following is NOT true about Coccolithophores?
1) They are tiny organisms,
2) They are capable of photosynthesizing,
3) There is no resemblance between them and diatoms.
4) They have a skeleton of calcium carbonate.
25- Which of the following is NOT mentioned as an important factor in abundance of
Coccolithophores?
1) Calcium 2) Salt 3 Light 4) Temperature

PASSAGE 3:

The oceans currently receive between 6x10” and 11x10” tons of sediment annually. Whilst the
volume would have varied in the past, the volume ol sediment entering the ocean basins would
have been considerable as the continents were eroded as part of the ongoing cvele of erosion.
deposition. and uplift. The material entering the ocean basins has two components: a
sedimentary or mineral matrix. which may be described as terrigenous since it derives from the
land, and biogenic material (1.e. material derived from organisms) comprising the remains of
marine organisms and pellen grains derived from continental vegetation communities. Ocean
sediments provide a proxy record of environmental change, since the components of the
sedimentary sequences reflect the conditions prevailing within the oceans and on the nearby
continents at the time of deposition. Both the terrigenous and biogenic components of ocean
sediments have provided, through the application of a range of techniques, a huge volume of
information on the natural environmental changes that have occurred over the last 3x10° vears
and even earlier.
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26-

27-

28-

What is the passage mainly about?

1) The cycle of erosion. deposition. and uplift

2) Considerable erosion of continents

3) The amount of sediment entering oceans each year

4) The amount of sediment entering oceans every month

Which of the following is NOT a source of biogenic material?

1} Pollen grains 2) Land minerals 3) Marine organisms 4) Vegetation

Which of the following will most probably be the topic of the paragraph following

the above passage?

1) Application of new techniques in oceanogarphy

2) The vast body of knowledge on marine life

3) The relationship between environmental changes and biogenic components of ocean
sediments

4) Contribution that both terrigenous and biogenic components have made to the
understanding of environmental change

Which of the following is closest in meaning to the word “prevailing” in line 97

1) Existing 2) Recovering 3) Intervening 4) Collapsing
What does the word “that” in line 12 refer to?

1) Ocean sediments 2) Environmental changes

3) Techniques 4) Volume of information
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